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PART A: LISTENING
I. Listen and tick true (T) or false (F) to the statement (1,25p)

	
	T
	F

	statements
	
	

	1. Mr Lam says we use energy for cooking, heating and lighting.

	
	

	2. Linh always turns off the lights when going out.

	
	

	3. Linh turns off electrical appliances when not using them.

	
	

	4. Minh uses low energy light bulbs at his house.

	
	

	5. Minh uses solar energy to cook meals.

	
	


II. Listen to the interview with John Adams, a travel writer. Circle the best answer A, B or C. You will listen TWICE. ( 1 POINT)

	1. How many countries has John been to?


	    A. 15
	B. 50
	C. 200


	2. What does John say about Ha Noi?


	    A. It has everything.

	    B. Its nightlife is exciting.

	    C. Its food is great.


	3. What is John’s favourite city?


	    A. New York  

	    B. Pagan

	    C. Bangkok


	4. John says Pagan is the best place to ___________.


	    A. see historic temples
	B. meet people
	C. see the sun rise


                                 PART B: LANGUAGE FOCUS (2,75 POINTS)

I.Choose the best answer A, B, C or D to complete the sentences (1,75p)
1. Choose the word whose underlined part is pronounced differently.
	A. candy
	B. traffic
	C. take
	D. thanksgiving


2. Choose the word whose underlined part is pronounced differently.
	A. safety
	B. symbol
	C. signal
	D. sugar


 3. We are looking for cheap, clean and          source of energy.
A. effective                   B. efficient           C. serious         D. dangerous
4. My brother and I often come to school .............  foot.

	A. on
	B. at
	C. in
	D. by 


5. The white cat is Helen’s, and the black cat is ..............

	A.  my
	B.  mine
	C.  of mine
	D.  I


6. We will use more .............  energy in the future.

	A.  sun
	B.  sunlight
	C.  solar
	D.  sunny


7. Which .............  of transport do you think will be used in the future?

	A.  means
	B.  meaning
	C.  meanings
	D.  mean




II. Supply the correct tense or form of the verb in parentheses (1 point)
1. He (fly) ..........................................the helicopter. He is a pilot.

2. What life (be) .......................................... like in the year 2100?

3.  Most cars will be able (drive) ..........................................themselves

4. You can (travel) ..........................................to work in your flying car.

PART C:  READING (2,5 POINTS)

I. Read the following passage and put a word in the box in each of the numbered blanks (1,25p)

Sometimes it is necessary to (1) ________our habits. Saving energy is one illustration. If we can (2) ________more energy, such as water and electricity, we can help keep the natural environment safe. Saving water, for example, helps preserve our rivers and reservoirs. If we usually take 10- minute showers, in this case should try to take shorter showers. When we go out, we (3) ________remember to shut off electronic devices such as televisions and computers. Turning (4) ________ the light is another example of saving electricity. In short, remembering to help the environment, such as by saving energy, is one of our most (5) ________responsibilities.

1. A. exchange               B. turn                    C. change                  D. make
2. A. help                        B. save                   C. cut                         D. saving

3. A. must                       B. may                     C. had                        D. should

4. A. on                            B. in                         C. without                D. off

5. A. important              B. basic                C. necessary          D. main

	
	
	
	


II. Read the following passage and do the tasks below (1,25p)

Big cities around the world have traffic problems. Mumbai in India is one of them. Mumbai is one of the most congested cities in the world. Traffic jams happen nearly every day, so drivers have to spend a lot of time on the road.
There are several reasons for traffic jams in this city. One reason is its increase in population. With nearly 20 million, Mumbai has too many people on the road. Another reason is that the roads in Mumbai are narrow, and many are not in good condition. Also, many road users do not obey the traffic rules. So, this problem is getting worse and worse.

A. Choose the best answer A, B, C or D. 

1. Traffic problems happen in ____________. 

A. big cities

B. poor countries

C. small villages
D. any cities

2. The passage is about ____________. 

A. traffic in big cities





B. the pollution increase in Mumbai

C. the traffic problems in the world

D. the traffic problems in Mumbai

B. Answer the following questions.

3. How are the roads in Mumbai? 

..............................................................................................

4. How many people are there in Mumbai?

..............................................................................................

5. Do a lot of road user in Mumbai obey the traffic rules? 

..............................................................................................

PART D: WRITING (2,25 POINTS)

I. Complete the second sentence so that it means the same as the sentence before (1,5p)
1. They have a lot of money. However, they're still not happy. 
=> Although......................................................................................................
2.  A sky system of  tubes will be easy to drive. 

→It will  .........................................................................................................____

3. My bike is green. (mine) 
→ The ...................................................................................................

4. Is there a colorful picture in your room?
( Does …………………………………………………………?
5. How much is a bowl of noodles?

( What is the …………………………………………………?
6. I spend two hours a day doing my homework.

( It ………………………………………………………

II. Write a paragraph about the advantages of the means of transport you have chosen .

Start your writing as shown below:

 I think people will like travelling by  ………………………….. in the future because it has many advantages . First, ……………………………………………………….

………………………………………………………………………………….

……………………………………………………………………………………….

………………………………………………………………………………………..

………………………………………………………………………………………..

…………………………………………………………………………………………..

…………………………………………………………………………………………….

………………………………………………………………………………………………..

……………………………………………………………………………………………

………………………………………………………………………………………………..



